
SAP ABAP table J_7LIMR0_V {Generated Table for View}

J_7LIMR0_V

MANDT [CLNT (3)]

MATNR [CHAR (18)]

BUKRS [CHAR (4)]

BUKRSREF [CHAR (4)]

LAND1 [CHAR (3)]

LAND1REF [CHAR (3)]

VRKME [UNIT (3)]

SPRAS [LANG (1)]

MATNRM [CHAR (18)]

MEINH [UNIT (3)]

EAN11 [CHAR (18)]

RMATN [CHAR (18)]

MTYP [CHAR (1)]

MEREL [CHAR (1)]

GMENG [QUAN (13)]

MEINS [UNIT (3)]

MAKTX [CHAR (40)]

MAKTG [CHAR (40)]

ERSDAADM [DATS (8)]

ERNAMADM [CHAR (12)]

LAEDAADM [DATS (8)]

AENAMADM [CHAR (12)]

MEVWX [CHAR (1)]

REA_NTGEW [QUAN (13)]

REA_BRGEW [QUAN (13)]

REA_GEWEI [UNIT (3)]

REA_VOLUM [QUAN (13)]

REA_VOLEH [UNIT (3)]

LVORMADM [CHAR (1)]

MM_BRGEW [QUAN (13)]

MM_NTGEW [QUAN (13)]

MM_GEWEI [UNIT (3)]

MM_VOLUM [QUAN (13)]

MM_VOLEH [UNIT (3)]

VARIANTE [CHAR (18)]

AVARIANTE [CHAR (18)]

J_7LC01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

EKORG [CHAR (4)]

 J_7LIMR0_V-BUKRSREF = J_7LC01-BUKRS 

0..N

0..N

J_7LC10

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 J_7LIMR0_V-LAND1 = J_7LC10-LAND1 

0..N

0..N

 J_7LIMR0_V-LAND1REF = J_7LC10-LAND1 0..N

0..N

J_7LM01

MANDT [CLNT (3)]

MATNR [CHAR (18)]

VARIANTE [CHAR (18)]

 J_7LIMR0_V-AVARIANTE = J_7LM01-VARIANTE 
0..N

0..N

J_7LM02

MANDT [CLNT (3)]

MATNR [CHAR (18)]

BUKRS [CHAR (4)]

VARIANTE [CHAR (18)]

 J_7LIMR0_V-BUKRS = J_7LM02-BUKRS 
0..N

0..N

J_7LM07

MANDT [CLNT (3)]

MATNR [CHAR (18)]

VARIANTE [CHAR (18)]

 J_7LIMR0_V-MATNR = J_7LM07-MATNR 
0..N

0..N
 J_7LIMR0_V-VARIANTE = J_7LM07-VARIANTE 0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 J_7LIMR0_V-MATNRM = MARA-MATNR 
0..N

1  J_7LIMR0_V-RMATN = MARA-MATNR 0..N1

MARM

MANDT [CLNT (3)]

MATNR [CHAR (18)]

MEINH [UNIT (3)]

 J_7LIMR0_V-VRKME = MARM-MEINH 

0..N

0..N

T000

MANDT [CLNT (3)]

 J_7LIMR0_V-MANDT = T000-MANDT 

0..N

0..N

T002

SPRAS [LANG (1)]

 J_7LIMR0_V-SPRAS = T002-SPRAS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 J_7LIMR0_V-MEINH = T006-MSEHI 

0..N

1

 J_7LIMR0_V-MEINS = T006-MSEHI 

0..N

1

 J_7LIMR0_V-MM_GEWEI = T006-MSEHI 

0..N

{0,1}

 J_7LIMR0_V-MM_VOLEH = T006-MSEHI 
0..N

{0,1}


